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We are pleased to offer this service for our textbook.  Our intention is to update this continuously as mistakes are found.  It is important that we have your help in this.  If you feel there is a mistake and it does not appear here, then email Chuck at c.alexander@ieee.org and he will check it out as soon as he can. 

APPENDIX F ERRATA

1.3
(c) 2sin(10t + π/6) + 1μC

1.13
1.1784 kJ

1.15(a)
1.4725 C

1.31
$42.05

1.35
2.333 MWh

1.37
961.2 J

2.19 
–2 A, 12 W, –24 W, +20 W, 

+16 W
2.39
(a)  0 Ω
2.51
(a)  9.231 Ω
2.61
R1 and R3
2.71
10 Ω

3.7
Va = –0.0556 V,   Vb = -3.444V
3.27
v1  =  625 mV,  v2  =  375 mV,  v3  =  1.625 V.

3.31
4.97 V, 4.85 V, –0.12 V
3.33
(a) This is a planar circuit.  It can be redrawn as shown below. 

[image: image10.bmp]




3.65
I1  =  2.17 A,  I2  =  1.9912 A,  I3  =  1.8119 A,  =  I4  =  2.094 A,  I5  =  2.249 A
3.75
–3 A, 0 A, 3 A
3.77
4V, 2V

3.79
Va = –5.278 V,  Vb = 10.28 V,  Vc = 0.6944 V,  Vd = –21.88 V
4.19
13.333 A
4.25
–6.6 V

4.63
–3.333 Ω, 0 A
4.69
∞ (theoretically)
4.87
(b)  9.926 mA.

5.61
v1  =  
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5.73
10.8 V

5.79
–4.99 V

5.85
401

6.9
13.624 V, 70.66 W

6.27
(b) 0.5714 mC
6.31
The third equation for v(t) should be 0.5t2 – 5t + 15.5 kV.  The third equation for i1(t) should be 6t – 30 mA and the third equation for i2(t) should be 4t – 20 mA.
6.57
6.625 H

6.61
(b) i1 = 2.4e–2t+ 1.6 mA, i2 = 3.6e–2t– 1.6 mA; (d) W30mH = 92.47nJ, W20mH = 0.7597nJ
6.65
(a)  40 J, 40 J, (b)  80 J, (c) 5x10–5(e–200t–1) + 4 A,       1.25x10–5(e–200t–1) – 2 A,          (d)  6.25x10–5(e–200t–1) + 2 A
6.77
Figure F.12, the horizontal axis should be labeled in seconds not milliseconds.  i.e. t(s)
7.7
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e

20
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13t
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7.13
54.05 μs

7.35
(a) –2e–3t/5, (b) 5e3t/2
7.39
(a) 4V, t<0, 20–16e-t/8t>0
7.43  
The time constant is 480s.

7.55

[image: image5.wmf]V

e

96

-4t


7.69  
48(e–t/3000–1) V

7.71  
–0.16667e–(t–2)/2000 mA
7.79
The value of the argument in the exponent is –80t/3.
7.85
(a)  659.7 μs, (b)  16.636 s.

8.3
(a)  0A, –10V, 0V,

8.45
{4 – [(3cos1.3229t + 1.1339sin1.3229t)e-t/2]} A, [(4.536sin1.323t)e-t/2] V
9.15
(b)  120.99 + j4.415
9.21
(c)  h(t) = 1.2748cos(40t – 168.69°)

9.23  
(b)  38.36cos(ωt+96.8°)

9.25  
(b)  i(t) = 0.745 cos(5t – 4.56()
9.47
0.4607 cos((2000t+52.63°)
9.53
8.873(–21.67˚A
10.17
9.25(-162.12( A
10.19
7.682(50.19( V
10.23
The answer should be:
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10.37
2.38(–96.37˚, 2.38(143.63˚, 2.38(23.63˚

10.67
4.945(–69.76˚V, 0.4378(–75.24˚A, 11.243+j1.079Ω
10.71
48cos(2t + 29.53o)  V
10.73
21.21(–45( k(
10.75
0.08157(168.23(
11.3
– 7.5W, etc.

11.5
P2Ω = 5.097W
11.7
160W

11.11
12.751 mW

11.13
(a) 12.798+j49.6Ω, (b) 90.08W

11.17
20 Ω; 31.25 W

11.19
2.576Ω, 3.798 W

11.39
0.2631 (lagging)

11.45
(b)  20 W
11.47
(b) S =226.3–j226.3VA

Average power =  226.3 W, Reactive power =  –226.3 VAR   (c)  S = 110.85+j64VA
Average power = 110.85W

Reactive power = 64VAR
11.53
(a)  93.97(29.8˚A, (b)  1.0 (lagging)
11.61
132.4(92.4˚ A, 6.62(–2.4˚ kVA

11.63
443.3(–28.13˚A
11.69
(a)  0.6402 (lagging)

11.75
(b) 0.998 (leading)
(c) No correction is necessary.
11.79   50 mW

11.85
(b)  2,225+j308.5 VA


(c)  0.9905 (lagging)
11.89
(b)  2.866 + j2.3 Ω
11.93
(b)  0.987 (lagging)

11.95
(b)  431.8 mW
13.21
4.254(–8.51˚A, 1.5637(27.52˚A, 4.89 W

14.3
(b)  No zeros; poles at – 4.775,              – 32.72
14.33
14.21 µH
14.37
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14.39
(b) 164.45 µH

14.41
(a) 1.5811 krad/s, 0.1976, 8 rad/s
14.43
(a) 2.357 krad/s, (b) 1Ω
15.5
(b)  72/(s+2)5
15.21
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15.49
2[1–e–2t]u(t)–2[1–e–2(t–1)]u(t–1) 

16.19
(3.333e-t/2 – 1.3333e-2t)u(t) V
16.25
{2.202e-3t + 3.84te-3t – 0.202cos(4t) + 0.6915sin(4t)}u(t) V
17.25
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17.27
(b) –0.045
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